
7 DETALJNA RJEŠENJA ZADATAKA IZ UDŽBENIKA MATEMATIKA 3 ZA 3. RAZRED GIMNAZIJE

Zadatak 11. Neka je �a · �b = 1 , �a · �c = 2 , �b · �c = 0 , �a 2 = �b 2 = 4 , �c 2 = 6 . Ako je
�p = 2�a −�b , �q = �a +�b + �c , odredi |�p| , |�q| , <)(�p, �q) .

Rješenje.

�p = 2�a −�b

|�p|2 = (2�a −�b)2

= 4�a2 − 4�a�b +�b2

= 4 · 4 − 4 · 1 + 4 = 16

|�p| =
√

16 = 4

|�q|2 = (�a +�b + �c)2

= �a2 +�b2 + �c2 + 2�a�b + 2�a�c + 2�b�c

= 4 + 4 + 6 − 2 · 1 + 2 · 2 + 2 · 0 = 16

|�q| =
√

16 = 4

�p · �q = (2�a −�b)(�a +�b + �c)

= 2�a2 + 2�a�b + 2�a�c −�a�b −�b2 −�b�c

= 2�a2 −�b2 +�a�b + 2�a�c −�b�c

= 2 · 4 − 4 + 1 + 2 · 2 − 0 = 9

cos <)(�p, �q) =
�p · �q

|�p| · |�q|
=

9
4 · 4

=
9
16

<)(�p, �q) = 55◦46′ .

702




